ARKE (AF—LH)

FiE)—T
A 1

2 |3 | 4] | & |EL

1 RIGTE 111 1@ 1 2 3
2 KHIT% | @ 1 1@ 2| 1 2
3 EEE @@ @1 3| 0| 1
4 {EiH{RTE 0|1 |1 0| 3 4

B 112 |3 | 4]8| 8 |BEE|TF—LE
1 EEITX @1 |®] 2 1 3 -1
2 7\ 1 @@ 2 | 1 2 0
3 EETTIE | @ @ 2| 1 1 +1
4 )\&ZIT¥ 01 ]1 0| 3| 4

C 1123 (4|8l & |IE
1 RIBde @I IB®|®| 3]0 1
2 [EE ol1]o]| 3 4
3B R ©) @ 2| 1 2
4 {EHREXE @] 1 11213

D 1123 |4]| & |E
1 558 @@ |33 |0 1
2 BET% 1 1 1@ 1] 2| 3
3 EHEIE| 1 | @ Al 2| 1 2
4 FEfmE 0|10 0| 3| 4
REER—F A (F)E AV RERY)
1 RiZde (1461) = 0
2 KMIE  (2fn) —) 1
3 EHEAEIE (261 —
4 EER () —,

[i] 7

5 EEETIT % (1461) = :
6 SF (2f) —,
7 FEkE (2f1) =
8 GEEE (1) —,
avyb—Lay (EMsmERY)
1 BRI (3ff) == 0
2 \&ZI% (461) —, ’
3 EEE  (afE) —
4 EET¥E (3fif) ==t fEyp—
5 EHHEEE (3D b -
6 EfwfE (AfL) =
7 A (4fr) —
8 RIFT % (Bfif) ==t




ARKE (BF—LEH)

%i&EU —/7
112 [ 3|8 8| Bk
1 *’a-u..ﬁﬁ @ |3 2 0 1
2 B & @1 |1] 2
3 EERTT % 0|0 0]2]3
B 1 12 [ 3|88 | Bk
1 RIGT% @@l 2|0 1
2 BET% 1 @)1 ]111]2
3 \ZI% |o0]oO 0]2]3
C 112 |3 | 8|8 BT
1 EHERITE @|@]2)0] 1
2 EER 0 @1 1] 2
3 FEfmfE 11 0123
D 112 [ 3| 8| & |IEAE
1 EET¥ @@ 201
2 RFT% @1 [1]2
3 £tHERE J oo 0123

1 b—F ATk

HEHRIX (RE )=

2 5EEE (X7 )——
el 1 EW%}I%
3 EsTE ( By )=
4 EBTE (EE )
2BIb—F AR
1 EER (&R )/ 1
2 BE ( By )——
° ARIE
3 BERI%E ( R\ )—
4 AT ( REB )—
SHELb—F Ak
1 EfmEE ( &k )=
2 EtHRAE (RE )/ .
3 \&IZ (@m )— S
1

4 EERTTE ( REF )=



